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ECONOMICS

( Honours Core )

Paper : ECO-HC-6016
( Indian Economy—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
e 2[ART Teq fadl :

(a) What is fiscal policy?
IR e [ 2
(b) What is ‘Import Substitution’?

e Reaesd’ &2
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(2) |

{ ({ 3 )
c) Give the meani of ‘Foreign Direct s '
4 Investment’ PR e - (i) Write one difference between
] small-scale and cottage industry.
‘WP zrers Ry i fers | :
G SF O 59 TS 9Bl AN 147 |

(d) What is ‘Minimum Support Price’? () What is NAVRATNAS?

TR R e 5 2 NAVRATNAS f 2
(e) What is working capital?
e Eats 9 2. Answer the following questions : 2x5=10
T fd eppigRd Ted ford -
() Mention one cause of low industrial i
growth in India. (a) Write the names of any two Social
: S ities Acts of India.
WﬁamwﬁmmqquI ecurines Acts ol 1naia
TR R @A 737 TS A1efar Sizeq 9
feran |

(g) Define occupancy tenant.

T oS Sigel A | (b) Mention two important features of

India’s direct tax.
(h) Write one objective of ‘public
procurement and distribution system’

of India.

- : 5 - 3 (c) Point out two differences between
Ko SR e TS ol Revenue Account and Capital Account.
Sewry o | |

ez ORI T4 RO 01 *M1 (T3 |

SRS 2w $99 101 8y ey o o
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(d)

(e)

(4)

Write two main objectives of the New
Industrial Policy, 1991.

Y653 T A9 STmilE AAiNed o I ST
ferm |

Mention two objectives of the National
Competition Policy.

< eifscerEr Mo 751 Sown e |

3. Answer any four of the following questions :

5x4=20

TS oA erpTR | TG BIfRG Bes i

(@)

(b)

(c)

24A/459

Outline the main functions of financial
system in India.

SReY Ry IMER gy FREAN SR
SICEPE S 41 |

Explain service sector as the ‘engine of
economic growth’ in India. .

CRARST SR ‘RerR seere 2o
47 |

Explain shortly the role of foreign
investment in the economy of India.

SRR S¥AifYe (ke RAaEs she s
SCHATGT S541 |

{ Continued )

(d)

(e)

4. Answer the following questions :

L)

(@)
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(5)

What are the technical causes for low
productivity of Indian agriculture?

SReE AT F-Seenfem RS FRIER
2

Write about the objectives of monetary
policy.

o e SrrPTRd e s |

Write about the problems of public
sector units in India.

SReq IRl W% Sooed weirER [Rea
fera o

10x4=40
T ey s i :

Discuss the role of fiscal policy in
economic development in India. 10

SR AT CHETS AT Al P
S[CEoA] 41 |

Or / 7121

Explain the functions of monetary
instruments of monetary policy in India.

ST @S M RArPERS SR Rac
SEEDAT 1 |
( Turn Over )



(b)

(c)
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(6)

Discuss the problems of agricultural
marketing of India. Suggest some

measures to improve it. 5+5=10
SIged FR TR TIHPHR HCAo] 41 | ST
AP A R ARG |

Or / WIZd1

Discuss the role of industrialization on
Indian economy. State few negative
aspects of industrial growth. S5+5=10
SRR ST SrEieReR PRPT STl
341 | STARNPIE PO AT ASRT [FE
Bl

Critically evaluate the performance of

public sector in Indian economy. 10
SReY  wARifve  qEEar 499 SREEAR
Wﬁﬁzﬁ JeiTse AT |

Or / 71341

Discuss the role of small-scale industry
in Indian economy. Suggest some
measures for the improvement of
SSI units. 6+4=10

ST SAifes T oo gl Sl
91| 8 ToeE SHgEd q1d (R0 o[
€I |

{ Continued )
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(7))

{d) Discuss the favourable and

unfavourable effects of Foreign Direct
Investment (FDI) on Indian economy. 10

SHed HEAlfee (ke 2Aers RN Joer
T FESRT RI San-] 341 |

Or / =241

Write about the eprrt promotion and
import substitution policy of India.

SReY QM I T Al [Psedd Aed
R fomn |
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